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1.

2.

If (1+ 27) - (1+ x), then the

169 13
value of x is
(A) 1
14
B —-—
(B) 13
(C) -27

(D) More than one of the above

(E) None of the above

The radius of a solid sphere of
some metal is 3 cm. How long a
wire of diameter 4 mm can be
drawn from it?

(A) 88 m
(B) 9 m
(C) 9'1m

(D) More than one of the above
(E) None of the above

On selling 30 chairs, a furniture
seller gets a loss equal to selling
price of 6 chairs. His loss
percent is

(A) 16
1
(B) 16
2
©) 163

(D) More than one of the above

(E) None of the above

16/PV/M-2023-02/2-A

4. The product of the digits of a

two-digit number is 36. If 45 is
subtracted from the number,
then the digits interchange
mutually. The number is

(A) 84
B) 73
(C) 49

(D) More than one of the above

(E) None of the above

If a+b+c=0, then what is the
2 2 2
value of a—+b—+c—9

bc ca ab

A) 1
(B) 2
C) 3

(D) More than one of the above

(E) None of the above

The solution of 4**14+ 417X — 10
is

1
(A) 3

1
(B) 5
(C) O

(D) More than one of the above

(E) None of the above



1. af (1+ 27)=(1+1);),Fﬁx6h‘[ 4. TI 3ol hl Tk AT o 3Rl B UHGA

169 36 2| afe g # ¥ 45 = fean wm,
o= 2 ql 37 399 § e Sd & | 91 8
(A) 1 A) 84
B) _1;} (B) 73
(C) 49
(€ -7 (D) 3T & & T @
(D) ST & & Tk & sfersh (E) IT® & & 18
(E) 30 | ¥ 18
5. I€ a+b+c=0, @ a—2+£+£
2. frdt o1 & H 2@ Mo K G=n ’ bc ca ab
3Fo "o Bl z@E 4 fio o =@ o T HHE T B
fopaT v AR W= ST Hehat 27 A 1
(A) 8-8 Hio
(B) 2
(B) 9 o
(C) 9-1 o (€ 3
(D) 394w & & TH I AR (D) 393 & & T & 31k
(E) 3w & 9 18 T (E) 3ww # © *18 T
3. TH HAteR fashar =l 30 FA & = 6. ax+l, gl-x _
W 6 FA * o 7eg % SR = w1 Ak i
Bt 21 3| Hferwra &1 7 (A) _1
(A) 16 2
B) 162 (B) 1
(B) 16 5
2
(©) 163 (C) O
(D) 39 # & UF ¥ AferF (D) 3wt # & wF § ek
(E) 30w & & g T (E) 393 & & g T
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7. On dividing x3-3x2+x+2 by

a polynomial g(x), the quotient
and remainder are (x2 -x+1])
and (-2x+ 4) respectively. Then
glx) is

(A) x-2
(B) x2+x+1
(C) x2-1

(D) More than one of the above

(E) None of the above

A toy is in the form of a cone
mounted on a hemisphere of
diameter 7 cm. The total height
of the toy is 14:5 cm. Then the

volume of the toy is [n = 272)

(A) 231cm3
(B) 331cm?
(C) 131cm?®

(D) More than one of the above

(E) None of the above

16/PV/M-2023-02/2-A

9.

10.

In a club, all the members
participate either in Tambola or
in Rummy. 320 participate in
Rummy, 350 participate in
Tambola and 220 participate in
both. How many members does
the club have?

(A) 440
(B) 445
(C) 450

(D) More than one of the above

(E) None of the above

The sum of the reciprocals of A’s
ages (in years) 2 years ago and

2 years from now is g The

present age of A is

(A) S years
(B) 7 years
(C) 4 years

(D) More than one of the above

(E) None of the above



7. x3-3x2+x+2 B T 9893 g(x)

g fowfsd 9 W arHa 3R W
FAM: (x2 - x+1) 3 (-2x+4) T,
?ﬁg(x)%

A) x-2

(B) x2+x+1

(C) x2-1

(D) 39w H ¥ UH ¥ 1M+

(E) ST @ 9 &5 7

. UF TacF1 U i % AR H 7, S
7 Ho Hio AW 1A Ueh M W =T
g 2 faam f Pa W
14-5 To o g, a1 fgei =1 A 8

(” ) 272)

(A) 231 ¥o o3

(B) 331 Wo o3

(C) 131 o #io3

(D) 39Y® | ¥ TH ¥ M

(E) 3w & & 15 T
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9. Trdl Fo@ ®, &t wew = @1 awelien

I W R 9 @d 21 320 W A WM
Wd 8, 350 el H HET od § 3R
220 BT H 9 Ad g Fo@ § fomaq
Heg 27
(A) 440
(B) 445
(C) 450

(D) 39w | ¥ UH ¥ M

(E) 3w H ¥ *I5 T

10. 2 a9 95t A 1 g (auf #) % FewEw
IR 3T W 2 T9 dQ IFh! Y h
W?ﬂtﬁﬂi%l A H a1 7
(A) 5 =
(B) 7 a9
(C) 4 a9
(D) 39w W | TH § Afh
(E) S H 9 i3 T

(TR e ¢ e.r.o.



11.

12.

13.

For what value of k, the system
of equations

x—-ky=2 and 3x+2y =-5

has a unique solution?

2
(A) 3
B) 1
(C) 2

(D) More than one of the above

(E) None of the above

The radius of a circle is 14 cm
and the area of a sector is
102-7 cm?. The central angle of
the sector is

(A) 30°
(B) 60°
(C) 45°

(D) More than one of the above

(E) None of the above

What is the compound interest
of ¥ 15,625 for 9 months when
the rate of interest is 16% per
annum and the interest is
payable quarterly?

(A) 1,961
(B) 1,951
(C) ¥ 2,051

(D) More than one of the above

(E) None of the above

16/PV/M-2023-02/2-A

14.

15.

16.

If the product of the roots of the
equation 3kx? -25kx+k+8=0
is 3, then k is

A) 1
(B) 4
€) 3

(D) More than one of the above

(E) None of the above

The value of log \@(32) is

5
(A) >
B) 5
() 10

(D) More than one of the above

(E) None of the above

The altitude of a right-angled
triangle is 6 cm less than its
base. If the hypotenuse is
V218 cm, the other two sides

(in cm) are

(A) 5 and 11

(B) 9 and 15

(C) 10 and 16

(D) More than one of the above

(E) None of the above



11.

12.

13.

k % T8 7 & T, afer fem

x-ky=2 ¥R 3x+2y=-5

%1 T 3Tl & a7

(A) —i

B) 1
(C) 2

(D) 30w W | TH § AfUh
(E) 39w & & &g T

TH gA A B 14 "o o T I
T Oeame (FFX) H aThd
102-7 Ho ™o ? B| Frooa g =1 Hedi™
T B

(A) 30°

(B) 60°

(C) 45°

(D) 30w § | TH ¥ Al
(E) 394 # & hrg 7

¥ 15,625 & 16% oMb O i
¥ 9 HIE 1 Thdfg AT 1 BT Sefh
= fomret 9 27

(A) ¥ 1,961

(B) ¥ 1,951

(C) ¥ 2,051

(D) 39Y® H ¥ TH ¥ M
(E) 304 & & hrg 7
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14. i Tefieor 3kx? - 25kx+k+8=0

15.

16.

% oAl 1 AT 3 &, @ k 2
A) 1

(B) 4

(C) 3

(D) 39w W | TH § Afeh
(E) ST 4 4 & 7

log /7 (32) 1 A ?

5
A 3

(B) 5
(C) 10
(D) 37 H ¥ TF A Al

(E) ST # 6 & 7

TF THE BIgs A S, ek YR
" 6 Ho Hlo %A 7| Ale fayst (vf)
V218 Ho o %, = q HF‘IT@
(Fo o H) &

(A) 53R 11

(B) 9 3R 15

(C) 10 R 16

(D) 3w W | TH ¥ Al
(E) ST & & 18 2

[FRNANN A e.r.o.



17. Which instrument is used for

18.

19.

measuring electric potential?
(A) Potentiometer

(B) Galvanometer

(C) Voltmeter

(D) More than one of the above

(E) None of the above

Magnetic field is a

(A) scalar quantity

(B) vector quantity

(C) dimensionless quantity
(D) More than one of the above

(E) None of the above

A man pushes more weight on
the Earth at

(A) sitting position

(B) standing position

(C) lying position

(D) More than one of the above

(E) None of the above

16/PV/M-2023-02/2-A

20. The coloured light that refracts

21.

22.

most while passing through a
prism is

(A) yellow
(B) violet
(C) blue

(D) More than one of the above

(E) None of the above

A piece of ice is dropped in a
vessel containing kerosene oil.
When ice melts, the level of
kerosene oil will

(A) rise

(B) fall

(C) remain same

(D) More than one of the above

(E) None of the above

The pH of which of the following
is more than 7?

(A) Gastric juice

(B) Blood plasma

(C) Vinegar

(D) More than one of the above

(E) None of the above



17. fogq fava = wmoe & oo fora Suemo

18.

19.

1 3T TR Star 27

(A) TR

(B) TeaArHieX

(C) deeHiX

(D) 39w H ¥ UH ¥ M+
(E) 39w & & &g T

ECEIRI R

(A) AfeT O

(B) wfast @mn

(C) smamm-Tfed =T

(D) 39w | ¥ TH ¥ 1M
(E) 394w & & &g T

TF Ak gl W e wRr e feufa
H goheT FehaT &7

A) s+ # feafa

(B) @S TH i feufa

(C) THH W e 5 A feufa
(D) 30w W | TH § Afh
(E) ST # & =l Tl

16/PV/M-2023-02/2-A

9

20. 50 ¥ 96 W 99 Al satad

21.

22.

B ATl Wi T

(A) diem

(B) T

(C) e

(D) 39w | ¥ TH ¥ M=
(E) 304 & & rg 7

el % dc % S W 9% R TH ZHST
ST a1 21 9% & fUsen w fudt &
a6 Tag

A) 3t

(B) faft

(C) <t & =+t it

(D) 3w U | UH A Al
(E) ST # & i Tl

frafafea & @ fresr pH, 7 @
fern 27

(A) Afezs S

(B) T WAl

(C) T

(D) 39y | ¥ TH ¥ M=
(E) ST # & i Tl

[FRNANN A e.r.o.



23.

24.

25.

The focal length of normal eye
lens is about

(A) 1 mm
B) 25 cm
(C) 2 cm

(D) More than one of the above

(E) None of the above

Which substance is formed by
the action of chlorine gas on dry
slaked lime?

(A) Calcium chloride
(B) Bleaching powder
(C) Hydrochloric acid
(D) More than one of the above

(E) None of the above

The process where the
characteristics are transmitted
from parents to offsprings is
called

(A) variation

(B) heredity

(C) gene

(D) More than one of the above

(E) None of the above

16/PV/M-2023-02/2-A

26. The point to be kept in mind for

27.

verification of Ohm’s law is

(A) ammeter and voltmeter
should be connected in
series

(B) ammeter should be
connected in series and
voltmeter in parallel

(C) ammeter should be
connected in parallel and
voltmeter in series

(D) More than one of the above

(E) None of the above

What happens when dilute
hydrochloric acid is added to
iron filings?

(A) Hydrogen gas and iron
chloride are produced

(B) Chlorine gas and iron
hydroxide are produced

(C) No reaction takes place

(D) More than one of the above

(E) None of the above

LRI (TR R E TR



23.

24.

25.

T W 3 o i gt Bt g,
QuEL

(A) 1 firo o

(B) 25 o o

(C) 2 o Ho

(D) 3w U | UH ° Al
(B) 3@ d @ =r5 T

I 93 §¢ 93 W A 19 R f |
HH-91 gt s=ar 27

(A) et Feiee

(B) forsrer =t

(C) TEgEAIN 7

(D) =wd § & & il
(E) 394w & & &g T
- & wdfa § el % age b
iR I hed &

(A) R

(B) egafiear

(C) =

(D) 39w | ¥ UH ¥ M+
(E) ST # & hrE Tl

16/PV/M-2023-02/2-A

26. 3 & W & gaamH & fou saH WA

27.

aredt a7

(A) THIEX 3R dieeHier =l Jvfiwy o
STIgl STHT =Ry

(B) UTHEX & Avfied #H IR dleeHieX
! FHMIG HH T ST ST =T

(C) uHier # THAMR FH H 3R
e H AufieH T ST S
=ifew

(D) 39y | ¥ TH ¥ M

(E) ST 4 4 &5 7

AR % FAS H qY TRSENG A
Sl § 1 BT 87

(A) TTESISE T 3R IR FAREE H
Icq1ed 2l B

(B) FAKH T 3R A TTEGITES
T &

(C) =hiE widfsran &l 2t &
(D) 39w | ¥ UH ¥ M+

(E) 39 o | =I5 T

11 (AN e.ro.



28. The best method to prevent 30.

flood is

(A) grazing

(B) afforestation

(C) deforestation

(D) More than one of the above

31.
(E) None of the above
29. Food cans are coated with tin
and not with zinc because
(A) zinc is costlier than tin
32.

(B) zinc has a higher melting
point than tin

(C) zinc is more reactive than
tin

(D) More than one of the above

(E) None of the above

Which of the functions is
performed by the ovaries?

(A) Formation of ovum

(B) Secretion of progesterone
(C) Secretion of estrogen

(D) More than one of the above

(E) None of the above

Which acid is present in
tamarind?

(A) Methanoic acid

(B) Tartaric acid

(C) Lactic acid

(D) More than one of the above

(E) None of the above

Coliforms are

(A) bacteria present in the
digestive tract of animals

(B) bacteria present in hot
springs

(C) bacteria present in frigid
environment

(D) More than one of the above

(E) None of the above

16/PV/M-2023-02/2-A 12 [IHTuT e



28. ¢ H Uk & fdu @@ IO\ 30. 3ITERE T HA-91 A TR Sar 27

fafa
A) fea =1 fmfor
(A) =% (B) TSRS o1 @
(C) TEISH 1 HH
(B) SR
(D) 39w | ¥ TH ¥ M
(C) e (E) 30 & & 313 e

(D) ST 5 8 1 & A 31. IHc H HA-91 37 27

(B) 3w & & i 7 (A) HeR S
(B) <R owa
(C) <ifFess o7t
29. @A % fesdi W b & a=mg o & (D) I & ¥ TF § e
(E) 3w # © 18 T

(A) T, o7 1 et 8 wem 2

32. w31 & &7
(B) f&7 & gorm # 5 w1 e

afe (A) wivRl & UeE T A 3ufed

U T B

(C) fa & gam # = siftes (B) T =Hi § T ST ATl S
giefsmamsiier &

(C) fd 32 arareRer # 9w 9 AT
EEzike
(D) 39w | ¥ UH ¥ M+
(D) 39w W | TH § Afh

(E) 3w & § 15 T (E) 3w & & 18 7t
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33.

34.

35.

What is the name of the
architect in charge of the new
building of the Parliament of
India?

(A) Arun Goel

(B) Padma Shri Bimal Patel
(C) Anoop Rai

(D) More than one of the above

(E) None of the above

What was  effectively the
percentage of the electorate of
the adult population of India
that could only participate in the
election of the members of the
Constituent Assembly?

(A) 10 to 15 percent
(B) 20 to 25 percent
(C) 30 to 35 percent
(D) More than one of the above

(E) None of the above

Which State, in April 2023, gave
the OBC status to transgenders
community?

(A) Tamil Nadu

(B) Madhya Pradesh

(C) Rajasthan

(D) More than one of the above

(E) None of the above

16/PV/M-2023-02/2-A

36.

37.

38.

Ibn Battuta, the famous Muslim

explorer who came to India
during the regime of
Muhammad Bin Tughlaq,

belonged to which country?
(A) Afghanistan

(B) Morocco

(C) Iraq

(D) More than one of the above

(E) None of the above

Recently, India’s first cable-
stayed rail bridge is built in

(A) Himachal Pradesh

(B) Uttar Pradesh

(C) Jammu and Kashmir

(D) More than one of the above

(E) None of the above

India’s  first  semiconductor
manufacturing plant will be set
up in which State?

(A) Gujarat

(B) Rajasthan

(C) Bihar

(D) More than one of the above

(E) None of the above

14 [ AUR0TRR O



33. YA H HHS & W " & T9AE

34.

35.

ATEGHR T 19 1 27

(A) TR TEA

(B) Tt foet weat

(C) T

(D) 39w H ¥ TH ¥ M
(E) 304 & & hrg 7

FId "AGH |91 % Gl %k gAE |
O &4 9Tl 9Rd hl 9%k 3T &
HAeTarsTl skl GHTet Tfderd sm on?

(A) 10 ¥ 15 yfdwa
(B) 20 ¥ 25 yfcwrd
(C) 30 ¥ 35 yfawra
(D) 3w U | TH A Al
(E) ST # # i Tl

fra T=T 3 e 2023 § S
TS 1 2o Ffto Hro w1 awil foam 27

(A) Ry

(B) TeT Yo

(C) TSTEIH

(D) 39Y® | ¥ TH ¥ M
(E) Sugh @ | g T

16/PV/M-2023-02/2-A

36. HiEmE foq et & IEAHTd § 9Rd

37.

38.

MU yfeg gfe™ @iekdl, 31 aqa
forer w1 % 97

(A) SABITEAH

(B) TReAl

(C) ==

(D) 39w | ¥ TH ¥ M
(B) 3@ d @ =I5 T

T & H, R A Rl had-¥
RECEIRIKIR

(A) Tewr=e vewr |

(B) IW Y= H

(C) < 3R FeR ¥

(D) = # & % & il
(B) 3 # @ =iE T

qRA 1 Ul e (AHiehed)
i &g e form ST | wniud TR
ST ?

(A) TsRIE

(B) TR

(C) for

(D) 3w W | TH § AfUh
(E) ST # & i Tl

15 [ AR i e.r.o.



39.

40.

41.

Who was behind the first
known attempt on Gandhi’s life
in India during the Champaran
Satyagraha in 19177?

(A) Dr. Grant

(B) H. S. Pollock

(C) Erwin

(D) More than one of the above

(E) None of the above

Which of the following countries
is the member of the recently
formed T2U2 Grouping™

(A) India
(B) Israel
(C) UAE

(D) More than one of the above

(E) None of the above

On March 17, 2023, the
International Criminal Court
(ICC) issued arrest warrant

against

(A) Russian President Vladimir
Putin

(B) US President Joe Biden
(C) Chinese President Xi Jinping
(D) More than one of the above

(E) None of the above

16/PV/M-2023-02/2-A

42. The third Forum for

43.

44,

India-
Pacific Islands  Cooperation
(FIPIC) Summit was held in

(A) Papua New Guinea

(B) Namibia

(C) Brazil

(D) More than one of the above

(E) None of the above

Rowan  Wilson has been
appointed as the first black
Chief Judge of which city?

(A) Washington

(B) Chicago

(C) New York

(D) More than one of the above

(E) None of the above

A Parliamentary Committee of
which of the following countries
recently recommended that
India should be made part of the
‘NATO Plus’ Grouping?

(A) UK

(B) USA

(C) Germany

(D) More than one of the above

(E) None of the above

16 Il NRI0TRRTH OO o



39.

40.

41.

1917 ® SURY TUE % SRH 9Rd §
Tieft % Sl W e Ia TEE & R
I AT?

(A) Bfo U

(B) To THo Uit

(C) e

(D) 39w | ¥ TH ¥ M
(B) 3 d @ =i5 T

frafafaa & @ #F-w1 W T & §
wfed ‘12U2 g =1 wew= 27

(A) Wrd

(B) EsmrEA

(C) HIH ¥R S

(D) 39w | ¥ TH ¥ M
(E) 3w 8 & =g T

17 urE, 2023 @ IS e
T (3o Hio Hio) 7 fores foeg
firgart are S fera?

(A) et Tgfq st g
(B) smfteht Tgafd St aee
(C) =t Trgufa =ft fomfom
(D) 30w W | TH § Afh
(E) ST # & i Tl

16/PV/M-2023-02/2-A

42, T 9IRd-WET HHE GEam w5

43.

44.

(Tho  3MTZ0 dfo 380 Fﬁo) f3mer
T SRS g1 ot

(A) drgeT = Frf &

(B) Arifer &

(C) sTsfier &

(D) 39w H ¥ UH ¥ 1M+
(E) 304 & § rg 7

Ta focer fohe o/et & Uedl 3ed g&d
= g fore e 7

(A) @i

(B) ferrmm

(©) =

(D) 39w | ¥ UH ¥ M+
(E) 394 # & hrg 7

frefafaa 7 @ e <o it o< afafs
I T & ° fawa it 2 R oama w
TR ww ' o fewn SR S
=feu?

(A) o e

(B) o o To

(C) <mit

(D) 39w | ¥ UH ¥ M+
(E) ST # & i Tl

17 [ AR i e.r.o.



45. The International Booker Prize, 47.

2023 has been awarded to

(A) Georgi Gospodinov

(B) Margaret Atwood

(C) Aravind Adiga

(D) More than one of the above

(E) None of the above

48.

46. Who is the new Chief Executive
Officer (CEO) of Twitter?

(A) Elon Musk

(B) Linda Yaccarino

(C) Parag Agrawal

(D) More than one of the above

(E) None of the above

According to 2011 Census of
India, what was the total female
literacy rate in Bihar?

(A)

(B)

(€)

(D)

(E)

52-89%

63:68%

53:57%

More than one of the above

None of the above

Subhadra Devi, who has been
awarded Padma Shri in 2023, is

a known
(A) architect
(B) space scientist

(C)

(D)

(E)

Papier-maché massy artist

More than one of the above

None of the above
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45. A TR TR, 2023 fezm mn 2

46.

(A) SIS medifeE

(B) HWriE weqge &

(C) owrfae srfem =t

(D) 39w | ¥ TH ¥ M

(E) 3w & & < e

dIR & U g wrier At
(dfto o 310) = 27

(A) TAH HEH

(B) foret amemife

(C) W AT

(D) 3w U | UH A Al

(E) 39 d | =I5 T
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47. 9Nd &I 2011 F SFOAT % TR,

48.

forgr <t T mfee wreRd & F A7

(A) 52-89%

(B) 63:68%

(C) 53:57%

(D) 39w W | TH § Afh

(E) 30 | ¥ 18 e

guET wdll, et 2023 # Taft gEEhR
Y G T 7, ST STl @

(A) aTEgfae o &9 |

(B) 2afier o o €4 H

(C) UR-THt FHAHR % T

(D) 3w U | UH A Afh

(E) 39 d | =I5 T

19 [ EHRINMIR i e.r.o.



49. Which of the {following trees

50.

51.

is worshipped by Mundas
and Santhals of Chota Nagpur
region?

(A) Tamarind

(B) Mango

(C) Kadamba

(D) More than one of the above

(E) None of the above

Which of the following is grown
during the Zaid season?

(A) Muskmelon

(B) Cucumber

(C) Watermelon

(D) More than one of the above

(E) None of the above

Which of the following
statements is true regarding
earthquakes?

(A) P-waves are transverse

waves.

(B) The place on the surface
above focus is called
epicentre.

(C) Studying animal behaviour
is one of the methods of
prediction of earthquakes
adopted by local people.

(D) More than one of the above

(E) None of the above
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52. Which of the

53.

54.

following
statements about Lake Superior
of North America continent is
true?

(A) It is world’s greatest salt-
water lakes group.

(B) It forms a geographical
boundary between Canada
and USA.

(C) It makes approximately

1700 km boundary between
the two countries.

(D) More than one of the above

(E) None of the above

Which planet is considered as
the Earth’s twin planet due to
similarity in shape and size?

(A) Mars
(B) Jupiter
(C) Venus

(D) More than one of the above

(E) None of the above

Which of the following countries
forms a part of Amazon River
basin?

(A) Argentina

(B) Chile

(C) Venezuela

(D) More than one of the above

(E) None of the above
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49. B AP & & [I IR AW

50.

51.

freaferfiaa § @ foF Ug i qom e €7
(A) ol

(B) @™

(C) eral

(D) 39w | ¥ TH ¥ M

(E) 39 & & &g T

fafafga 4 9 fredh wdt se &
orem § sl STl 27

(A) T

(B) =

(C) e

(D) 3w U | TH A Al
(E) 39w & & &g T

ey o oY H, fefefad § & sE-91
FIT T 27

(A) -qd, IR 9 B

(B) “qd W 3T g ok IW &
T 1 3TTeheg FHEd

(C) STl % SHAER 1 LI TAHH
AT g HOAE M ST
ereraft % et § & T 2|

(D) 39w H ¥ TH ¥ M

(E) 39 d | =I5 T
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52. fAfaflga & @ =9-w s I

53.

54.

ufeR we il T gt % dey

o Heg 27

(A) ¥E fova &1 @R @ 1 qo9 @
e g 2|

(B) ¥& ST 3R o THo To % HeA
friiferss ©imm sHTd 2|

(C) I8 QI o9 & [ AT
1700 fho dio orwslt diwm sTt
&

(D) 39w | ¥ UH ¥ M+
(E) 3 | & 18 e

MR 3T AT § I9HEdT & FR0 g
TE ol gl 1 Sedl T8 HHT ST 27

(A) T

(B) Fewdfa

(C) U=

(D) 39Y® | ¥ TH | 1M
(E) S H @ =I5 T

fafafga 8 @ w9-a1 29 s 99
afe w1 ek fewmm 27

(A) IS

(B) fucht

(C) eHsgEa

(D) 39w W | TH § Afh
(E) 37 # & g e
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55. Which of the following options is
the correct sequence of layers of
atmosphere starting from the
Earth’s surface?

(A) Troposphere —  Strato-
sphere — Mesosphere —
Thermosphere — Exosphere

(B) Troposphere - Meso-
sphere — Stratosphere —
Thermosphere — Exosphere

(C) Troposphere - Meso-
sphere — Thermosphere —
Stratosphere — Exosphere

(D) More than one of the above

(E) None of the above

56. The correct pair of local name of
shifting agriculture and related
country is

(A) Chena—Bangladesh

(B) Milpa—Rhodesia
(Zimbabwe)

(C) Ladang—Malaysia
(D) More than one of the above

(E) None of the above

57. What would be the time at 30°
East of Greenwich, if it is
12 noon at Greenwich?

(A) 2 p.m.
B) 1 p.m.
(C) 10 a.m.

(D) More than one of the above

(E) None of the above
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58. What are the main mineral
constituents of the oceanic
crust?

(A) Silica and alumina

(B) Silica and nickel

(C) Silica and magnesium

(D) More than one of the above

(E) None of the above

59. Which of the following explains
the term ‘mulching™

(A) Covering the bare ground
between crops with a layer
of organic matter like straw

(B) Covering the contours with
stones, grass, etc.

(C) Cropping along terraces
made on steep slopes

(D) More than one of the above

(E) None of the above

60. The correct pair of Indian

petroleum producing area and
its location is

(A) Surma Valley—Assam

(B) Lunej Area—Gujarat

(C) KG Basin—Bay of Bengal
(D) More than one of the above

(E) None of the above
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55. fmfafad # @ wF-91 foshed geaft it

56.

57.

UdE ° Y& T agHSd s wdl
T A 87

(A) &vHed  —  THAOHSA  —
TIISA — qAIHSA — dfgHed
(B) &lwHewd — HeHSA  —

HAAIHEA — d9HSd — digHed
(C) ewHed — HeFHSA —> dM-
Hed — GHAIHSA —> dgHed

(D) 39w | ¥ UH ¥ M+
(E) 3T 4 ¥ HI5 T2

TETAOETA FH & THE W IR
Hafed <% 6 We I 7

(A) =FT—aTATR

(B) frem—aefm ()
(C) REM—WAfIEn

(D) 39w H ¥ TH ¥ M
(E) ST 4 6 &5 7

afe dfem & due F 12 59 F, @
e % 30° & § T Wy 2

(A) TR 2 =

(B) 3UE 1 &l

(C) gae 10 ==t

(D) 39y H ¥ TH ¥ M
(E) 3% # & =l Tl
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58. WEEFRE TS % A GHS HIH

59.

60.

w1 27

(A) faferr siw T
(B) faferert i) free

(C) fTaferent iR Befifyrem
(D) 39w W | TH § Afh
(E) ST # & i Tl

feafafaa & 9 #F-w s’ s fi
AT LT &7

(A) wEQl o = Wi STHHA P AT
S Siforek qaref il WA | gl

(B) gl i U, HTE 3T § AT

(C) @t gral W ot Afgawrett () o
THA AT

(D) 39w W | TH § Al
(E) ST # & 5 7

qRA & @S d (T2feram) 3cdiesh &
IR goehl safeafe &1 o gm 3

(A) FT =T —sTa

(B) T &S

(C) o Sfto IRF—anTet i @
(D) 39w W | TH § AfUh

(E) ST # & i Tl
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61.

62.

63.

Who was the Labour Minister in
Jawaharlal Nehru’s Provisional
Government?

(A) Aruna Asaf Ali

(B) C. Rajagopalachari

(C) Jagjivan Ram

(D) More than one of the above

(E) None of the above

In which month of 1918 was the
‘Champaran Agrarian Act’
passed against the European
indigo planters?

(A) February

(B) May

(C) November

(D) More than one of the above

(E) None of the above

Which one of the
statements is correct?

following

(A) A Bunch of Old Letters was

written by Dr. Rajendra
Prasad.
(B) Brahma Dutt was the

second Satyagrahi in the
Individual Satyagraha.

(C) The Indian Struggle was
written by Subhas Chandra
Bose.

(D) More than one of the above

(E) None of the above
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64. Which tribe of Bihar attended

65.

66.

Gaya Session of Congress?

(A) Oraon

(B) Santhal

(C) Sannyasi

(D) More than one of the above

(E) None of the above

Which of the following pairs is
not correctly matched?

(A) Advocate of India—
Dadabhai Naoroji

(B) Young India—
Mahatma Gandhi

(C) Indian Spectator—
Surendranath Banerjee

(D) More than one of the above

(E) None of the above

Under whose Chairmanship
was the National Planning
Committee set up in 1938?

(A) Dr. Rajendra Prasad

(B) Subhas Chandra Bose

(C) Jawaharlal Nehru

(D) More than one of the above

(E) None of the above
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61. SR A& i RN WHT A UH

62.

63.

=t & 97

(A) TR G 3Tl

(B) Hio TSTIMTATERY

(C) SFTSiad 1™

(D) 39w | ¥ TH ¥ M
(E) 39 & & &g T

1918 = forg weld o “=Famor Y s
(=R wfeH vEe)’ i Fid S
% Tt o foeg, wTfa gatm on?

() el

(B) wE

(C) Tawmx

(D) 39w H ¥ UH ¥ 1M+
(E) 304 # & hrg 7

frfafiaa et @ @ wF-1 9t 27

(A) T 9 3% 3dcg el & e
2o TSix wETg 3 foham om|

(B) AfFM WmWE H w@ed  gal
ERIPE IR

(C) | =% 99 A 7 3fTT T
e foram oy

(D) 39w H ¥ UH ¥ M+
(E) 3ude d @ &5 T
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64. fugr & form Senfa 3 *T9 & T

65.

66.

SfraeE | T for on?
(A) 4

(B) €T

(C) w=amht

(D) 39w | ¥ TH ¥ M
(E) 304w & & =l 7

frferfan ot & & F-a v gk
T 27

(A) Usdiae 37T% Ffeqr—
EHEE I

(B) 7 giea—werean e

(C) 3T WReT—gLsT sfl
(D) 39 U | TH A Al

(E) ST # & rg Tl

1938 # Torueht sremeran ®§ UE™ AISHT
giufa <t Temgar it 78 oft?

(A) o TSIg TG

(B) g™ =5 94

(C) STeTeTaTe A%

(D) 39y | ¥ TH ¥ M
(E) Sugh @ | ¢ T
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67. Who was the author of the book, 70. At which place, B. G. Tilak

Mahatma Gandhi and Bihar: organized ‘Home Rule League’ in
Some Reminiscences? 19167
(A) Syed Ali Zaheer (A) Poona
(B) Dr. Rajendra Prasad (B) Bombay
(C) Jivatram Bhagwandas (C) Nagpur
Kripalani

(D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

71. Who was related to the
68. Under the influence of which publishing of a weekly Hindi
revolution, the people of Bihar journal, Hunkar?
denied to pay ‘Chaukidari Tax™?
(A) Yamuna Karjee

(A) Non-Cooperation Movement
(B) Rahul Sankrityayan

(B) Civil Disobedience Movement
(C) Sahajanand Saraswati

(C) Quit India Movement
(D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

72. Which English General showed

69. The female freedom fighter tribute to Rani of Jhansi saying
popularly known as the ‘Grand that “Here lay the woman who
Old Lady’ of the Independence was the only man among the
Movement was rebels”?
(A) Aruna Asaf Ali (A) Hugh Rose
(B) Gulab Kaur (B) Campbell
(C) Bishni Devi Shah (C) Hudson
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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67. WEIHl Tt Us faer : §w ey

68.

69.

T % @ B o7
(A) aFg 3rcht SIER

(B) Tfo TS5 TG

(C) SiIdM e FHUcAH!
(D) 30w W | TH § AfUh
(E) 37 & & 18

rE eTeie & TvTE | e, feRR %
A 3 SehE 3 ¥ gRR R T
oa77?

(A) TN T<IeH

(B) Hfeam= e MTale

(C) ¥R Bl AT<IeH

(D) 39w | ¥ TH ¥ M

(E) 3w & & 18 7
a8 Afgen T@amar SAET e oft, S

EAAal IMaleH 61 Tdgs dfeen &
&9 ¥ forma off?

(A) ITRUN HEE Al

(B) T FR

(C) fomrht <ft e

(D) 30w W | TH § AfUh
(E) Sudth # @ 1g T
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70. g wH W o Sfo fao 3 Bm w1

71.

72.

o & T 1916 H A off?
(A) T

(B) =w=r

(C) g

(D) 39w W | TH § Afh
(E) Sudth § & 1$ T

gpr f&dt wmfes afem & weme @
1 Fefed 97

(A) =T RS

(B) TEA A

(C) weEsHg Taead!

(D) 39w W | TH § Afh
(E) Sudth § & 1S T

fora e @ Tl (Ser) 3 @
it T 1 AT HEd g AEIS 4 off 7R
‘! 98 3fd W T o, o i |’
THAT He off?

(A) TS T

(B) e

(C) T=&d

(D) 39w W | TH § Afh
(E) 3udth § & #1g T
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73.

Match List-I with List-II and
select the correct answer using
the codes given below the Lists :

List—I List—II
(Names of (Related Political
Slogans) Parties/ Politicians)
. Garibi Hatao 1. Left Front
. Save Democracy 2. Indira Congress
Land to the Tiller 3. Janata Party
. Protect the Self- 4. N. T. Rama
respect of Telugus Rao
Codes :
(A) a b c d
2 1 3 4
B) a b d
2 3 1 4
(C) a b c d
1 4 3 2
(D) More than one of the above
(E) None of the above
74. Which of the following was

formed under the influence of
Russian Revolution and USSR?

(A) The Communist Party of
Great Britain

(B) The Conference of the
Peoples of the East (1920)

(C) The Comintern
(D) More than one of the above

(E) None of the above
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75.

76.

77.

Who said, “The basic cause of
problems facing Bharat is the
neglect of its national identity”?

(A) Deen Dayal Upadhyay

(B) Keshav Baliram Hedgewar
(C) Madhav Sadashiv Golwalkar
(D) More than one of the above

(E) None of the above

Which of the following was
the major demand of
peasants participating in Non-
Cooperation Movement?

(A) Reduction of revenue
(B) Abolition of beggar

(C) Open the entry of peasants
in the forest areas to graze
their cattles, collect fuel
wood and fruits

(D) More than one of the above

(E) None of the above

Montesquieu proposed a
division of powers within the
government between legislature,
executive and judiciary in which
of the following books by him?

(A) The Spirit of the Laws

(B) My Thoughts

(C) Lettres Persanes

(D) More than one of the above

(E) None of the above
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73.

-1 & g1 § gafera e 3 7R)
gt % f= fig ™o ¥ '@ IW
g

-1 11
( Rt % AT ) ( Tt arifaen
EGTAUSECLE)
a. T geren 1. o "=t
b. @eras sl 2. 3 o™
c. Sia aTel sl 3. ST &d
d. TRt % TETfmE 4. o o TURE
EaREaIl
Fe
(A) a b c d
2 1 3 4
B) a b c d
2 3 1 4
(C) a b c d
1 4 3 2
(D) 39y H ¥ TH ¥ M
(E) 3T | ¥ *18 e

74.

feafafga 4 9 w9-ar =6 wifd qen
o THo THo Mo o UWHE % q&d
fea gam an?

(A) T e =1 areErd g (FgE
ardf)

(B) 9d % @i &l TF¥eH (1920)
(C) T whifted

(D) 39w H ¥ TH ¥ M

(E) 37 # & g e
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75.

76.

77.

R e, “‘Anlt T dEEE St 3ua
TR I TUET HT GeAd RO 77

(A) <H T 3T

(B) 1 FfeR™ TSR
(C) TIIa TETRE TeTaTetshl
(D) 30w W | TH § Afeh
(E) ST 4 4 & 7

Frafafaa o @ /g oo 0 9
W T wfaed f vgE wim wE-H
oft?

(A) TR H At
(B) SR 1 I

(C) & &= H U ugpsli &l =H,
e i dHRS aAT B IHhSN B
Tq Widedl 1 Y99 @i

(D) 39Y® | ¥ TH ¥ 1M
(E) 3w H ° =I5 T

HiEH] 4 TR o IAeaiia T,
FEAIART AR FARAITRT & T
wifeat 1 favem fefofaa & 9 st
forer geae o WAt feRa en?

(A) T3 fafe 31 17 e
(B) @ gizw

(C) oo W

(D) 3w W | TH § Afh
(E) Sugh @ 4 g T
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78.

79.

80.

Which of the following was the
main cause of deforestation
during the British rule in India?
(A) To meet the demand of
sleepers on the railway
tracks and supply of
timbers for the Royal Navy
(B) To meet the demand of
planned forests and
plantation of tea and coffee
(C) To improve land to meet
the demand of expanded
cultivation
(D) More than one of the above
(E) None of the above

Which organization of India has

the motto, “Dharmo Rakshati

Rakshitah (law protects when it

is protected)”?

(A) The Research and Analysis
Wing

(B) The Indian Army

(C) The Indian Supreme Court

(D) More than one of the above

(E) None of the above

Which of the following
movements was led and
successful under the leadership
of Sardar Vallabhbhai Patel?
(A) Satyagraha in support of
Khadi peasants, Gujarat
(B) Satyagraha of workers of

cotton mills, Ahmedabad,
Gujarat

(C) Satyagraha of Bardoli,
Gujarat

(D) More than one of the above
(E) None of the above
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81.

82.

83.

With reference to India and
Great Depression started in
1929, which of the following
statements is correct?

(A) The depression adversely
affected Indian trade.

(B) The depression adversely
affected Indian peasants,
farmers, export and import.

(C) The impact of depression
on India indicates that
how integrated the global
economy had become by
early 20th century.

(D) More than one of the above

(E) None of the above

The validity of the order of
the Government of India of
13th August, 1990, for the
reservation to socially and
educationally backward classes,
was decided in which of the
following years?

(A) 1991
(B) 1992
(C) 1993

(D) More than one of the above
(E) None of the above

As per Angus Maddison’s book,
The World Economy : Historical
Statistics what was the
contribution of Bharat (India),
in percentage, in world GDP
(PPP) during ancient times?

(A) 32%

(B) 20%

(C) 12%

(D) More than one of the above
(E) None of the above
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78. fr=fafga 4 @ fafewr swmm & Sm

79.

80.

IRAaY o =i e 1 -4

T hI0T AT7

(A) T % A W aedr (WAW)
HIT T QU HAT AT IR FEAT H
1T, gt STeel i AT AT

(B) Tm=ifsa ==t i wim ® qu w
qAT =T TS FHIh! HT TR0 BT

(C) Toreamita Weft =l AT 1 U FH 6
o gffr =t 39 e

(D) 3w U | TH § Afh

(E) 37 | & 18 e
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(A) 3TgEu 3R favemor o

(B) W™ T

(C) R &1 TaT=l =R

(D) 39w H ¥ UH ¥ M

(B) 3B # & =I5 T

Frafafaa et ° @ foresR @er

TZUITE T ZT Aqed foham T 3R 9

%l T&T AT7

(A) wE Bfded & THd 7 "o,
SRTd

(B) wu™ et &  wd=iiEi @
HANE, JTEHaEE, TSRId

(C) SEIcl TemIE, TSR

(D) 39w | ¥ TH ¥ M

(E) 3% 4 4 & 7
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81.

82.

83.

RA 3R 1929 ¥ URFY T "Wl %

g o, fmfafaa & @ a-a1 wem

Tl B 7

(A) HEl A 9RA™E AR Hl Afdgad T9
g gt o

(B) W I vrdm wfeed, foam,
sEE ud fEfa @ wfdsgerar 9@
Tt feRa |

(C) Wt =1 YA W YT Feohd LT §
fF 204t wdt & wmew #, faww
HfeFaET Y Thigd B T off|

(D) 39w | ¥ TH ¥ M
(E) 3w # 4 g T

grTiSTh 99T QeAtvTeh ®9 ¥ fUse o o+
AR TG 9Rd THR & 13 T,
1990 & 21 &I Juar F=fafea & &
forg af foffa g% oft?

(A) 1991

(B) 1992

(C) 1993

(D) 39w | ¥ TH | M=

(E) 39tk # & 18 T

WW@W,%WW:
feifere ©RfeHa & FgER, W=
FA B 9 #1 fawg Sfto o o
(ﬁoﬁotﬁo)ﬁﬁﬁﬁmaﬂ
IEH 977

A) 32%

(B) 20%

(C) 12%

(D) 39w | ¥ UH ¥ 31+

(E) 394 # & rg 7
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84. Match List-I with List-II and
select the correct answer using
the codes given below the Lists :

List—I List—II
(Names of the Acts for (Related years
the welfare of women of the Acts)

in India)

a. The Special Marriage 1. 1976
Act

b. The Dowry Prohibition 2. 1954
Act

c. The Equal Remunera- 3. 1986
tion Act

d. The Indecent Repre- 4. 1961

sentation of Women
(Prohibition) Act

Codes

(A) a b ¢ d
2 4 1 3

B) a b ¢ d
3 1 2 4

(C) a b c d
4 2 3 1

(D) More than one of the above
(E) None of the above

85. Which of the following basic
values was accepted by all
leaders much  before the
Constituent Assembly met to
deliberate on the Constitution of

India?

(A) The Universal Adult
Franchise

(B) The Right of Freedom and
Equality

(C) The Protection of Rights of
Minorities

(D) More than one of the above
(E) None of the above

16/PV/M-2023-02/2-A

86.

87.

88.

Who wrote the book, The
Beautiful Tree : Indigenous
Indian  Education in the
Eighteenth Century?

(A) Dharampal

(B) Tilak

(C) Gandhi

(D) More than one of the above

(E) None of the above

Which of the following is
assured mainly by the
fraternity’ in the Preamble of
the Constitution of India?

(A) The dignity of the individual

(B) The unity and integrity of
the nation

(C) The justice, liberty and
equality of the citizens

(D) More than one of the above

(E) None of the above

Who among the following said,
“Indian judiciary suffers from
luxurious litigation”?

(A) Dipak Misra

(B) Ranjan Gogoi

(C) N. V. Ramana

(D) More than one of the above

(E) None of the above
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84. TH-1 = G-I ¥ gafea Hffg 3k

gt % f= fig ™o ¥ '@ IW
T -

-1 gei-11
(Y& ® AT weamor 7g (erferfaamt &
erferfamt <& wmm) wafia o)
a. fomiy foame srfufrm 1. 1976
b. gz Ty srfufmm 2. 1954
c. THE T fefem 3. 1986
d. 96 =1f3r ufaffeea 4. 1961
(wfemer) erferfaem
Fe
(A) a b c d
2 4 1 3
B) a b c d
3 1 2 4
(C) a b c d
4 2 3 1
(D) 39w H ¥ UH ¥ M+
(E) 3T | ¥ *18 7e

85.

frefafaa & @ ®F-w g 9o,
et qared g wRa % Wfeum W
forem-famst 2g Wfaegm fwl oo &
e @ wgd ved & R w forn
= ATY

(A) wTET TR HATRR

(B) L&Al TR WA 1 SRR
(C) STeuHEH! o ATIHRT T T
(D) 3w U | TH § Afh

(E) 394 # & hrg 7
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86.

87.

88.

ywds, fo &gREa 2 : e e
THIH §7 § Tty ot forem foreft?

(A) v

(B) feet

(C) et

(D) 39w W § TH § AfUh
(E) ST # & i Tl

IRATY % W™ Hl @ § qeYed
ffafed & @ geua: fora sartaa
AT 87

(A) =afh <t T

(B) <1 Y Ushdl UH IS

(C) AR & =R, 3 Tl Td
HHECT

(D) 3w W | TH ¥ AfUh
(E) Sudw # @ *iE T

T ¥ TR wer, uRdE =mrerst
el geremaTsht @ ufa 7777

A) < foen

(B) T g

(C) To ffo THAT

(D) 39w W | TH § Afh
(E) ST # & i Tl
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89. Which one of the following is not

90.

91.

92.

a gaseous biogeochemical cycle
in ecosystem?

(A) Phosphorus cycle

(B) Oxygen cycle

(C) Nitrogen cycle

(D) More than one of the above
(E) None of the above

Which of the following
organisms convert inorganic
substances into organic

compounds using sunlight in
the presence of chlorophyll?

(A) Autotrophs

(B) Certain bacteria

(C) Animals

(D) More than one of the above
(E) None of the above

Which of the following has
higher energy level and shorter
wavelength?

(A) Infrared radiation

(B) Ultraviolet radiation

(C) Visible radiation

(D) More than one of the above
(E) None of the above

The process of progressive
chemical accumulation of non-
degradable chemicals at each
trophic level is known as

(A) biological magnification

(B) morphological magnification
(C) thermogenic magnification
(D) More than one of the above
(E) None of the above
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93.

94,

95.

96.

The carrying capacity of a
population is determined by its

(A) population growth rate
(B) natality

(C) limiting resources

(D) More than one of the above

(E) None of the above

Methaemoglobinaemia is caused
by the drinking of water
contaminated with

(A) nitrate

(B) cadmium

(C) phosphate

(D) More than one of the above

(E) None of the above

The flow of energy in an

ecosystem is

(A) multidirectional

(B) unidirectional

(C) tridirectional

(D) More than one of the above

(E) None of the above

Which of the following are
constituents of an ecosystem?

(A) Animals

(B) Plants

(C) Microorganisms

(D) More than one of the above

(E) None of the above

<Z I (R T



89.

90.

91.

92.

Frafafaa & @ ==-ar aiterfos @ @
et S Tt =% TE 87

(A) HIEHRH =%

(B) ATHISH =ish

(C) TEZISH =T

(D) 30w W | TH § Afh

(E) 374w d 9@ &1 T

frafafaa @ @ F-w Sfa, FaRifea
&1 Jufedfd # ¥ o TR 1 ITART
AFEHF TSl H e AR T
aftafdd s 27

(A) Tt

(B) % Sfam]

(C) =g

(D) 39w | ¥ TH ¥ M

(E) 3T 4 ¥ HIg T2

Frafataa o @ frds @ 3= el &)
3R BT A 27

(A) Tt et

(B) ureTHt farferzor

(C) TwmE faferor

(D) U § | TH ¥ Al

(E) Sugh @ 9 g T

T It T W IR-30EHT AT &
AR THEME G=a 6 Uik &
% ®9H M S )

(A) Sfer amadq

(B) ®uTcHsh 3Taeq

(C) dTISH 3TaEA

(D) 3w U | TH A Afh

(E) 394 # & hrg 7
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93.

94.

95.

96.

e 61 98 gHar e g futfa
i STt 87

(A) SHEE ghg R

(B) SH-&

(C) i Twmem

(D) 39w | ¥ UH ¥ M
(E) Sugh @ | g T

AomerfemfiEr, frefafaa & @ frew
it arft iR % HRor BT 77

(A) AT

(B) efEm

(C) wiehe

(D) 39w | ¥ UH ¥ M+
(E) 39 H | *I3 T

TG § Sl I Ja@ 2l 2
(A) =gl

(B) uwfefirn

(C) Tl

(D) 39w H ¥ TH ¥ 1M

(E) ST 4 4 F5 7

frafafga & @ =F-w w1
w27

(A) S

(B) Tmed

(C) Hemsa

(D) 39w | ¥ TH ¥ M=

(E) 3w d @ *iE T
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97. Which of the following gases is

98.

99.

100.

16/PV/M-2023-02/2-A

produced from landfills?

(A) Sulphur dioxide

(B) Methane

(C) Liquefied petroleum gas
(D) More than one of the above
(E) None of the above

Which of the following represent
the food chain in a forest?

(A) Plants, deer, lion

(B) Plants, frog, snake

(C) Plants, weeds, fish

(D) More than one of the above

(E) None of the above

In the environment, plastics will
not be decomposed by the
action of

(A) bacteria

(B) saprophyte

(C) parasite

(D) More than one of the above

(E) None of the above

Energy sources that do not
increase carbon emissions
include

(A) solar cells

(B) windmills

(C) nuclear power plants

(D) More than one of the above
(E) None of the above

101.

102.

103.

104.

Branching series in a food chain
is called

(A) food system

(B) food level

(C) food web

(D) More than one of the above
(E) None of the above

The green plants capture
of the sunlight energy and
convert it into food energy.

(A) 5%
B) 2%
C) 1%
(D) More than one of the above

(E) None of the above

Movement
under

The Chipko
strengthened
leadership of

(A) Amrita Devi Bishnoi
(B) Medha Patkar

was
the

(C) Sunderlal Bahuguna
(D) More than one of the above

(E) None of the above

are present in the first
trophic level in the food chain.

(A) Autotrophs

(B) Primary consumers

(C) Tertiary consumers

(D) More than one of the above
(E) None of the above
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97

98.

99,

100.

frafafaa @ @ ®F-@ @ defra @
30 Bt 27

(A) | STEIATFITES

(B) =

(C) ™ uIferay |

(D) 30w § | TH § Al

(E) 3% 9§ 5 7
frefafad & @ &9 ST § AR J@e
=1 afafferea swar g7

(A) ey, T, I)

(B) dIeH, Hew, Oiq

(C) URY, EHAAR, HSalt

(D) 39w | ¥ UH ¥ M+

(E) 3w | & Hig Tl

wieRer #, wifed _ f fem g
forfea =2t grm|

(&)  Sframy

(B) werrshief

(C) wsfieft

(D) 39w H ¥ TH | M

(E) Sugth @ | g T

Folt o B, S HEA Icesiq § gig e
Fd g, § ik 8

(A) WR A

(B) ueH aferat

(C) et et T

(D) 3w U | TH A Al

(E) Sugh @ | g T
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101.

102.

103.

104.

JMER @l § I@EIfad  FEe  w
@SR

(A) TER o

(B) STER &R

(C) 3MER ST

(D) 39w | ¥ TH ¥ M

(E) 394w o ¥ *I3 T

& 0 g % g A St w1
TEUl A ¢ 3R 38 W Sl # uREfdd
EZGR

(A) 5%

(B) 2%

C) 1%

(D) 39 U | UH A Al

(E) 3udth § & 1S T

forereh wIgca ® et TaieH w1 wetet
foreft?

(A) e &t foeng

(B) T Ieet

(C) Hetemer sgem

(D) 39w | ¥ UH ¥ 1M

(E) 3T | ¥ 18

___ ITER Ee # yuw 9 T W
HISE 2 2

(A) Terd

(B) wmfirer Iustih

(C) fefrersh o

(D) 39w | ¥ UH ¥ M+

(E) 394 # & hrg 7
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105. Arrange the following fractions

106.

in ascending order :

13 29 41 51
18 36 45 60

13 29 51 41

(A) < <—<—
18 36 60 45
18 60 36 45
51 41 29 13

(©)

—<—<—=<—
60 45 36 18
(D) More than one of the above

(E) None of the above

How many squares are there in
the given figure?

(A) 25
(B) 30
(C) 32

(D) More than one of the above

(E) None of the above

16/PV/M-2023-02/2-A

107. A man fills a basket with eggs in

108.

such a way that the number of
eggs added on each successive
day is the same as the number
already present in the basket.
This way the basket gets
completely filled in 24 days.
After how many days, the basket
was one-fourth full?

A) 6
(B) 12
(C) 22

(D) More than one of the above

(E) None of the above

The sum of two numbers is 480.

If the bigger number is
decreased by 2% and the
smaller number is increased

by 10%, then the numbers
obtained are equal. The larger
number is approximately

3320
(A) ———
13
3300
(B)
13
3120
C) —=
13

(D) More than one of the above

(E) None of the above
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105. f=fdfaa it 1 ot w9 #

e i
13 29 41 51
18 36" 45 60

13 29 51 41

A) —<—<—<—
18 36 60 45

13 51 29 41
< <

B) = <oo<ii<o-
18 60 36 45

51 41 29 13

C) —<—<—<—
60 45 36 18

(D) 39Y® | ¥ TH ¥ M

(B) ST @ 4 &5 7

106. feu wu fum § foraa anf 87

(A) 25

(B) 30

(C) 32

(D) 39w | ¥ UH ¥ M+
(E) 3% # & i Tl
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107. U Afh 3TS] ol 9 YhR R § T

108.

2 % v Fus 7 m @ S A 9
e I FEN TEd U IRT H UNE
T o SR 8| 39 YRR 2w 24 T
H qft W ST 2| foRad faT o 9@ 2Rt
TH-A1Tg Wi off?

A) 6

(B) 12

(C) 22

(D) 39w | ¥ UH ¥ M+
(E) 39w & & &g T

3 TS & AN 480 B IR =L
G T 2% ht T Y St § SR B
T 10% i ghg it Sl 2, o
T SR Bl 8| 9t W 7,

3320

S e

3300

B) —3

3120

© =3

(D) 3w W | TH ¥ Al

(E) 39 d | =I5 T

39 [[HNHNEATHEAVAT A AW ¢ e.r.o.



109. The next number in the finite
sequence

486, 324, 216, 144, ...
is
(A) 96
B) 76
(C) 36
(D) More than one of the above

(E) None of the above

110. Which number should replace ?’
in the following series?

240, 120, ?, 180, 360, 900

(A) 120
(B) 130
(C) 150

(D) More than one of the above

(E) None of the above

111. The term in the blank
__ : FICTION :: GRIND : BMDIY
is
(A) LOIZOUT
(B) KNHYNTS
(C) IMGXMSR
(D) More than one of the above

(E) None of the above

16/PV/M-2023-02/2-A

112.

113.

114.

There are S5 routes to go from
Prayagraj to Patna and 4 routes
to go from Patna to Kolkata.
How many ways are possible for
going from Prayagraj to Kolkata
via Patna?

(A) 45
(B) 20
(C) 54
(D) More than one of the above

(E) None of the above

Select the
statement.

most suitable

(A) Every circle is an ellipse.
(B) No circle is hyperbola.

(C) Every square is a rectangle.
(D) More than one of the above

(E) None of the above

The word CODE is coded as
15161991 and STEP is coded as
18769122. Then SPOTE is coded
as

(A) 1822761691
(B) 1822167691
(C) 1816227691
(D) More than one of the above

(E) None of the above
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109. d9RfE 3TIFA 486, 324, 216, 144,

110.

.. ® reh gen ?

(A) 96

(B) 76

(C) 36

(D) 39w | ¥ TH ¥ M
(E) 393 o & I8 7

Frefafaa aoft 9 27 % T W BH-H
AT AT ?

240, 120, ?, 180, 360, 900

(A) 120

(B) 130

(C) 150

(D) 39Y® | ¥ TH ¥ M
(E) 3w 8§ & 18 T

111. & 9§ S9-91 92 8 ?

: FICTION :: GRIND : BMDIY

(A) LOIZOUT

(B) KNHYNTS

(C) IMGXMSR

(D) 30w W | TH § Al
(E) 39w o & &g T
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112.

113.

114.

TIPS © 9 W % 5 A7 § 3R
4 7l 921 ¥ HIARE SH & &1 9T

B U ST § hictehrdl ST o foha
BEECRS

(A) 45

(B) 20

(C) 54

(D) 39w | ¥ UH ¥ M+
(E) 3udth # & 1S T

T ITYTH YA H T HI |
(A) & T e 2

(B) g g srfauzaer & 2|
(C) & et 21 B

(D) 3w W | TH ¥ Afh

(E) 30 § & 1S T

CODE ™€ &l 15161991 & &9 |
Hifeq frm MM 2 IR STEP I
18769122 & &4 H wifed fham =
21 f SPOTE =i frm &9 @ =ifeq
foram T 27

(A) 1822761691

(B) 1822167691

(C) 1816227691

(D) 39y | ¥ TH ¥ 3
(E) 3wt § & #1g T

a1 [ TNINHmmwnmwinm g e.r.o.



115. The area of a circle is 40m2. The

116. Select the odd word

117.
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area of a square with sides equal
to radius of the circle is

(A) 4n

(B) 4n?
(C) 40m
(D) More than one of the above

(E) None of the above

119.

in the
group :

Book, Paper, Pencil, Pen, Eraser

(A) Book

(B) Pencil

(C) Eraser

(D) More than one of the above

(E) None of the above

120.

If in English alphabet, A=1,
D=2, P=4, then which of the
following denotes 3?

(A) H
(B) 1
€ J

(D) More than one of the above

(E) None of the above

118.

Two numbers are in the ratio
21:10. If their HCF is 11, then

the sum of the numbers is

(A) 341

(B) 141

(C) 241

(D) More than one of the above
(E) None of the above

A profit of 10% is made when a
smartphone is sold at P rupees
and there is 4% loss when the
smartphone is sold at Q rupees.
Then P:Q is

(A) 55:48

(B) 45:34

(C) 110:96

(D) More than one of the above

(E) None of the above

In how many different ways
can the letters of the word
EDUCATION be arranged so that
the vowels come together?

(A) 7200

(B) 14400

(C) 12100

(D) More than one of the above
(E) None of the above
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115. T% J9 & &% 40n2 Bl 99 H

116.

117.

Bem & SR yemell A & W
SAFA B

(A) 4

(B) 4n?

(C) 40m

(D) 30w W | TH § Afeh
(E) 304 & & hrg 7

e H § e e g
(A) g+

(B) ufee

(C) =3

(D) 39w | ¥ TH ¥ M
(E) 394w & & &g T

ISt auigren ®, Ife A=1, D=2,
P=4 7, a f=fafga 4 4 «=-w
3 &l eIl 87

(A) H

(B) I

(C) J

(D) 39w | ¥ UH ¥ M+
(E) ST # & ol Tl
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118. T ¥&¢ 21:10 & U@ § 2| R

119.

120.

3T Ho o 11 B, a1 TS o1 9177 7
(A) 341

(B) 141

(C) 241

(D) 39w W | TH § AfUh

(E) 394 & & rg 7

Teh WG bl P ¥ § s=- W 10%
T Y BT & IR WEHH B Q T A
TR 4% HEE A 21T P:Q 2

(A) 55:48

(B) 45:34

(C) 110:96

(D) T § & v & e
(E) 3w H ° &g T

EDUCATION 37s2 % 18 i forea
TR U AT foham ST Fehdl 8 difeh
T TS A1Y AT AL

(A) 7200

(B) 14400

(C) 12100

(D) 39w W | TH § AfUh
(E) 304 # & hrg 7
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16/PV/M-2023-02 iRt JEe

SFHIGAR HT ITHATH

A

T -YEdehT
QAT 3ETI4
q9—2

| wmm:2a 2 | ( gurfe : 120 |

9T % ST A W Ugd 9 for@ 1R i oA @ ug ot |

el e

. T8 - ¥ $d 120 T T

2. |t Il * A% g9E 2|

10.

11. 9

12.

13.

. TR ST B € oy rut v -gfwent fY Wit o 3@ o TR 3o I gt oiR wy-gfeaen

7 St @ ok gfeaert 4 W &1 3g @R HEAT 44 W 47) Wiz [ 48
gﬁ&;‘m%ﬁmw ST AT el mm%ﬁéﬁﬁﬁ%ﬁwﬁ%&?m@ﬁ

Wmsué?aaﬁslﬁﬁg@wzﬁ wdt yieae @ A1

. 3@ 98 & SR Fuffa wom & s srgwue e ford | weA-gftae w el g T ford
. Tl o I A o TTU A9k Sferh g0 SerT ¥ I 0 f6d] SR | 39 I U o g8-1 W Ruifa wum

AT AT, THATH, TIA-JIEAehRT JEAT AT 3 Toeur srava fored s oiueht S usieh Siian Tat
Sl

. W TAF h Y¥-2 W FUiNG T § 0 IwHTeR a9l Iv-Ueaet 6l J@et A, B, C a1 D ST 39

Te-YfEeRT % AR U8 % SHW R AR 3ifhd g, @Wﬁﬁgﬁﬁmﬁ/ﬁ?ﬁw@%mmﬁq@m
F2IG | IR Uk W T¥A-GIETRT @l 3ifehd T i AT TeTd Gl 3ifehed A T I TR T
wE qoATRA g g

. T TA-gfeaeR § @t wed oTR 3% W IS wd fE U gfd g1 yew ue % ute 3w—(4), (B), (C), (D)

3R (E) 8 W o3 T 2| 376 § 7 999 T8 hael Ueh 30X I g4 3R 10 T Tk T Afhd i | TR Fd
TTH 3T FRT I T § 3ifhd @El Wi W el 2

. W IAE H IS Y HE&I1 % G UTd 99 39 YER 94 g0 E— @), ®), ©,®3ﬁ'{ ® | I % IW A & forw

TR S TR F A Teh I Rl et /et % ATA-UTEE U ¥ (oed S 81 Teds T & fog
I Teh W bl P AR 3 AT ST Tk § Ffgd | 30 W TF § A Th T & fow us & 31foes g9 o
e @ €, @ TRt ST TTerd HHT SR 39 95k # 39 Rt fifgd s o foru harer whteft /et wEt &6
Wmﬁ?aﬂgﬁmaﬁlﬁmﬁ%ﬁmwm-wawuﬁaﬁ?mqﬁ%l

. afe foreft wroa # foreft wam <t RIS gEU o qeATeHe TR Sl FfE N, 1 WAl oh TS qun ferdt wua § ¥ ST

AT hl W HET SR

%mmﬁ%w%m@ww%mw%@ﬁwmmaaﬁwqaﬁ—%ﬁméa@%wﬁm
|

~gEehT W IS T HISAT 1 S AT BT 8 | GeA-eqehT ST I b o] Wlen bl ety o wlieqn s 9 s
aﬁrﬁqéaﬁluﬁaﬂ%wmwmaﬁwaﬁmlﬁvélwﬁ%aﬁmmmmwﬁ
I A S Al Al R

T % IS § F TRt wah w1 oft we AR R W AT W ST % [T ER iaTs S ekl 8 SAET STkt
g T faar s @ 21

mj‘;ag%m w1 310t 3ufedfa # Self Adhesive LDPE Bag # I @@ § o /€id &@™ o 39 & wlian
we |

Note : English version of the instructions is printed on the First Page of this Booklet.
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